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A. Replot Fig. 10. Compare the A and B given by Fetkovich with the A and B determined by “Trend
Line” using Excel (with only the three highest rates). Use the Fetkovich-reported values in any

calculations or work below.
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F. How much does the AOFP change (at initial pressure, pr=pri) if the partial penetration skin is
completely removed by perforating the entire thickness of the reservoir?

P_L\} ?«ess\m\m wuoaa :(M A’FZ )ﬁa s\'l,owlcl, E_z, fS\u’o’:\

~— Ap? =
z_—L—.@ S\o?e,——Jv'{ Pty
M= 7 f




Post~Clen s - 1,1-(7%'73
Poysr Eq. WL = b7 = pelbh
T b

g+20 28



1 L \
o) > - . m
< ~ .u ! Ry
I S N
M
¥
D_W ﬂVN
o &
~ 3
- A S J
T > = = (R
3 >V T a
¢ 1 O <
A 2 =3 = S
=~ = | L ~
3 U
m [ ~ 7 <
< NG T o\ J
< Il I C
o F o, W =
0 0 AR
P =) c <!
G" NN [
s B =l
i
&
M
%

.

(I




